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a) log
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b)log8l=log34=4.log3=. . . e)logff=logI%=- E. log2
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a)

logz7F93×=36⇒x=6

g) log
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c) loggx=4 ; x -54=625 itlogj9=x;3×=r9=3; x I

d) log,,625=4 ; x' 1=625 ;x ¥6255=5
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137 a) log
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= log 35
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b) log y
37 x ; (3-4)%54137 ⇒ - 4x=7 ; x = - I

c) In 413 = l n e 72=72

139 Auerigua sin usar la calculator a
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sabiendo que log 2=0301

y log3 = O
'
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a) log too = log 102=2

b) log 5 = log E = log to - log 2=1 - o ' 301=01699

c) log 20 = log too = log too - log 5=2 - O
' 699 = I
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d) log 215 = log = log to - 2 .

log 2 = I - o
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Cambio de base




